G

Series BVM/5

SET-2

o 66/5/2

wlienefl el IT-YEdeht & JE-I8
W AT ford |

Candidates must write the Code on the
title page of the answer-book.

Td .
Roll No.

o FHUA G F A foh 50 TA-97 H Higd Y8 15 2 |

o THUA H Tl FNU H IR fU MU Fig TR Hl BH IT-YEH ® E@-I8 W
forg |

o FYA IE WA W IATA H 25 7% F |

o HUAT U T ST TTEAT IJ[& A | UgHA, T 1 shilTeh a9 ford |

o T THUA HI UG o fo1C 15 fire o1 Tm fon mn @ | WeA-9F W foao gatg
T 10.15 S 5T IT@W | 10.15 S § 10.30 1 b B hadd IH-UF i TeTl
3R 38 AT o TR o IAL-YIEIhT T D13 I g1 o |

e Please check that this question paper contains 15 printed pages.
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General Instructions :
(1) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iti)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to
these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three

marks, 2 questions of four marks, 1 question of five marks and 1 question
of six marks. You have to attempt only one of the choices in such questions.
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SECTION A

1. ‘wem a8 fafee’ = 10 wUg i 1fed Ot & 19 ISfishd @ | T T e
St T 6HUS & | P! 9 T HHT T I @ oA | HE o JoREA 7 T 100
T o 1,00,000 TAAT ;M & A g0 o9 ThiEd w1 [ui fomm |
e qui SAforga &1 T | 39k UvETd A8 AW g1 foh WA U aedlorh
JITIHhAT F 3TMH o1 |
3 JGUNT shl g <hIfGT a7 30 IRTvg hifvre S8 st &1 wenitg &

&1 ol T THT IO g SIE § T8 @1 TR 1
XY Ltd. is registered with an authorised capital of ¥ 10 crore. The
paid-up capital of the company is ¥ 6 crore. The company was facing

shortage of funds. The management of the company decided to raise
funds by issue of 1,00,000 equity shares of ¥ 100 each. The issue was

fully subscribed. After this it was realised that the funds raised were in
excess of the actual requirement.

Identify and define the concept which was not considered by the company
before deciding the amount of funds to be raised.

2. o Ui sleamiie fafies’ weafishement & fou wh srfgdia wis deie
I ITHT S W 7 | TeArafehedenl gRT $H ITHLUT HT AN hadl IUJF
Tf¥reTer o STe & foRaT ST Tehat B | IET ao o 3Ees W@Ed & fow ot fofarse
AT o ATIEIE Sl ATEIHhAT & | $Hh HIUT, ITHUT ol IYFIT Hifod
Jreuarelt H g foRT S W1 7 | ot Iusker <l fersht sIgrT =me @ |
Y I o TN W HROT ¢d L HFE] G TN H A I Tt Fa€ qlie
%1 g9 2T | 1
‘Nayan Medicare Equipment Ltd.” manufactures equipment for surgeons
having a unique laser technique. The equipment can be used by the
surgeons only after proper training. Even their maintenance requires
guidance of specialised engineers. Because of this, the equipment is used
in a limited number of hospitals. The company wants to increase the sale
of the equipment.

Suggest the promotion tool to be used by the company giving reason in
support of your answer.

3 P.T.O.
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3. fods 7 gy rfeHiEseT W Uk 915, 39 fuiflgd TRET & oy @l fo afe
HTEITIHAT g3 dl ©: W A%AT 5,000 Tl 1 gl 77 o do, S ot vt g,
TSk hl HUFAT oh & ST 379e 38 sed feam @ | 2 718 § 400 forY <At
T T F o TEAN T5h h FRER A HE HET §¢ B G | foow T i
foshar & o & T RS 3ueh! RreRrd g @ 71 L T | 98 v\ b o foR
FT AL |
foass o1 goma Qe 6 Sugea feufa # a8 fod lUseml o1 S
TehdT & |
Vivek purchased a bike from Sarnath Automobiles with a written
guarantee to repair or replace, if necessary, within six months or
5,000 kms of distance travelled whichever is earlier. After covering the
distance of 400 kms in two months, the gears of the bike started giving
problems. Vivek took the bike to the dealer who refused to listen to his
complaint. He was confused about what he should do.
Suggest the rights that Vivek may exercise in the above case.

4. Tret ft w1 gAE qAT HI@AYY 1 H B b Y JeeEA w0 =
SATTA HTEHT <hl TRl Bidl & | foheal e o 98 sy |
Various input resources are required by management to complete a task
effectively and efficiently. Name any two.

5. &) SueERes wH 9%d 8H o fau 1ot fushl semMr s oy e = mEdt
2 | oft Ik SHHI W 2Ed @ | 3194 Tl I ITEdfaehdl | sead o fog
Jaeehl ! UiasT & SR | GieH, SAEETReh WiasIemolt i qe @& it &
fore = afiem s vsar B
ITad Uferaa Jawe o Teh i ol Gt Il B | 39 S Sl UgEE hifoe e
39 iy hifse |

All business firms would like to increase their sales and earn profits to be
successful. All managers dream of these. To turn their dreams into
reality, managers need to work hard in thinking about the future, in
making business predictions and achieving targets.

The above lines describe one of the functions of management. Identify
and define this function.

6. “3Ta=Tie Tred’ T =T 319 7 2
arat

“STI=ieR e Rl o 31 B 2
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What is meant by ‘Formal Organisation’ ?

OR

What is meant by ‘Informal Organisation’ ?

7. T SN ThE qU1 U Afedca sl #§ sT=avg i | 1
HAAT
‘ool Td TR W oFavig I | 1
Differentiate between an ‘Aptitude Test’ and a ‘Personality Test’.

OR
Differentiate between ‘Recruitment’ and ‘Selection’.

8. ‘SIS IRVl AT Ueh ITH oh! Yoil FLAAT i ¥ THTfId il & ? 1
terat

SR FET TS AT Teh IeH 1 YSil G i el IHTfId Ll g ? 1

How does ‘Interest Coverage Ratio’ affect the capital structure of an

enterprise ?
OR

How does ‘Debt Service Coverage Ratio’ affect the capital structure of an
enterprise ?

Qs d
SECTION B

9.  TIYTE, Higd AT I o 1 § T T TN &9 H 39eh! STaT-TaT oY
fafmior geprgat € | 3 haR ufterdt qen $umeR € dem o IedTed TafaterR
1 TG FEEE i TS Gt w1 fafg ok wd & | 9 =T e
ITet Tl WA 1 ST hLd 3 a1 AHehIhd TThATSTT 1 T id & | I 30
3CATG] 1 Hod Taiu T 3fa aW-EET & @i d & | 9g o | |neft
3cATGeh] GRI IEqRl o 3cdTed H SIIAE T ITfod SFasrl w9 =fean X i
FEGE, Tehell qen guqul axqet & faw § faf<a € | o, SiA ohenfie &=
& I IATCHhl & 1Y U Toh 6T s o1 [Huig foram fSgent 3o
iggm & 91 S TN FEaa | G @1 | I8 TS JgHH, IYUehkdl U
Ifad AT fhad & arct fosharsti &1 Ufdarg & Td 3 foeg
HIATE B & AT IuTedTST I TeATgd Ham |

Iwdaq aftfa % sifafeaa s e gr fFenfen e am e el @

T HET Hl ool HINT | 3
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Gopal, Mohan and Shyam are three friends having their separate small
manufacturing units in an industrial estate. They are hard-working and
honest and undertake their respective production activities following the
good practices of business. They use good quality raw materials and
adopt standardised process. They fix the prices of their products with a
reasonable profit margin. But all of them are worried about the
malpractices like manufacturing sub-standard, duplicate, and defective
goods by the fellow manufacturers. Therefore, they decided to form an
organisation with a constitution of its own which is free from government
interference. This organisation would encourage consumers to strongly
protest and take action against unscrupulous, exploitative and unfair
trade practices of sellers.

State three other functions which may be performed by this organisation
in addition to those mentioned above.

10. T390 3 811 €1 § Uk 9 HIHd & TA.3.20. dod 99 et 3Nk $hls H R
T TRH ToRaT 2 | 38k 31efF Ui wHer] ™ L @ 8 | i A sl Iifed
AT FHTEAT o HJRATH ITAM hl A hid & [T I8 3= Y <al & |
T YU T S S fI a8 HHATET ST HE-w-Hireer oft yge
3 | 98 3k g faswifea et o1 faveiwor off otar ® of 3= wfayfee off 2o
2|
R grr frorfed Rl @1 g & U Agw@qul Hew % &9 H dfid fham S
Al 2 | 39 UH 1 A9 FaTST ql IuYFd H YT il o AR B
e feurfed fopu S dehe 919l 91 3T BT T 3o shitoT |

Shiv has recently joined an industrial unit manufacturing low cost LED
bulbs. He has five workers working under him. He gives them
instructions to ensure optimum utilization of resources and achievement
of work targets. He provides good on-the-job training to the workers to
build an efficient team. He also analyses the work performed by them
and gives feedback.

The work performed by Shiv may be described as an important element
of directing. Name the element and state two other functions which may
be performed by Shiv in addition to those highlighted above.

11. ‘foxfig SR 1 ifientor 399 AR fopu S a1t Torfi gusi <) giudredn
YR W fopan S 8 1) 39 SR T AW Sast EH U 9¥ § 3y
qRgerIar a1t YIS <hT AR foRaT SITaT 8 | 39 ST <Al foheal @ forsanedi v
oo ot Fifs |

‘Financial markets are classified on the basis of the maturity of financial
instruments traded in them.” Name the market in which the instruments
with more than one year maturity are traded. Also state any two features
of this market.
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12.

13.

14.

‘G’ gfshaT o 9UH A9 SO <l GHEATSY |
AuaT

TS % FIST R o HE o (ohwal dF (oG] ol THEATST |

Explain the first three steps in the process of ‘organising’.
OR

Explain any three points of importance of ‘organising’ function of
management.

Treeror < wewe & fefafad fomget = s
(i)  SATCHS AT T i
(i) Hehl bl Jneldr i STTehT; a
(i) SETEA] 1 THEYO YA |
A=
‘areafas fsared i AT’ @ aTg T gfshAr % =Xl @t auEsT |

Explain the following points of importance of ‘controlling’ :

(1) Accomplishing organisational goals;
(i1)  Judging accuracy of standards; and

(iii) Making efficient use of resources.

OR

Explain the steps in the controlling process after ‘measurement of actual
performance’.

@ us |
SECTION C

MO AT At ht Ffssha (93 @ aran) e eft & an o fafwa on |
A h o @H Wl ITeh! AT Fgdt S @l g ek HiHd 1 T&hid &
Td b HIEIATAT T HTH hid hl T Hidl 3 | 37d:, G4 Feel 31T Uise I o
UTgeh! bl TAELIGS @H & [dehcd TS i & U Teh T IR L &
o foren | fRIS w@ WTed I @l 90 i o 91g 394 fJfYE SRl agi i
Tgae $l e WA i AewEenar ff, S8 g Y, Jd@R, @ 9P,
iﬁﬁﬁﬁﬁ@ﬁ%%@ﬁﬂ@%ﬁ%ﬂtwﬂﬂmq@ﬁ%ﬁﬁm?ﬁqm |

3‘{4%[ 75 Toia forn for Soep fuan, =tor, Teaii & 9T Yeeeeh 8 | 372 Seh!
7 P.T.O.
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i
a1l o sl Ufd W18 T 50,000 fow Sdn | 3Tk fUar 7 36E wa b 98 36
i % 912, S, ol w@ThR Fgad s o 51 76 39 9g & fof quf §9 & 19 7 |
T $H TS b I R & T | HH U8, Y9 I o h gLad] Skl |
fafir TreAt ®l STHIA HHART TGH i I FH™ AT | I0 5 T F A
&t fop 98 qUAT SaE IATe T ATEdT @ | O 4 I8 Hey Wi R for
IR W 9IS W & T ufg afesh ¢ & fore =gt | @ ol i Fgfer &
oI orer 3 U Ufg Bied Yeud TR U Ry Lfud feRam oft 97 e
I 9eM fehU TTT AT | HSe o |

() 39gd Ig=aE U Ul Iggd wd ge, fafte %l ugl w1 W & fow
O G TANT § ATE T Wl o & @il ohl THSSY |

(@) =y & Iwwd feafa o afda yery o wrf @1 o1 i |

Ganesh was concerned about the sedentary lifestyle people are leading
nowadays. Their dependency on outside food is also increasing because
corporate work culture demands working till late night at offices. So, he
decided to start a restaurant, ‘Healthy Eating Point’ to provide healthy
food options to customers. After completing planning and organising
functions, he identified the various job positions that are required to be
filled i.e. a General Manager, an Accountant, two Chefs, two boys for
serving the food in the restaurant and three boys for home delivery of
food. He decided that his father, Karan, would be the General Manager of
the restaurant. He would be paid ¥ 50,000 per month for his services. His
father requested him to appoint his friend’s son, Prem, as an accountant
who is well qualified for this post. Ganesh agreed to this proposal.
Earlier, Prem had a business of providing unskilled workers to different
organisations from remote areas of the country. Prem took permission
from Ganesh to continue with the old business. Ganesh happily agreed
and asked him to provide five boys for serving and delivering the food.
For the appointment of the two Chefs, Ganesh approached a renowned
Hotel Management Institute and was satisfied with the Chefs provided
by the institute.

(a) Quoting the lines from the above paragraph, explain the two
sources of recruitment being used by Ganesh for filling up the
various job positions.

(b)  Also, give the meaning of the function of management discussed in
the above case.
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15.

16.

S T die fgad ot & ge b ARG % ®9 § HRRd 7 | B
YT SIIETT B1E Sl Th AT oo HEat o T & H & ] | 19 ol {0,
rfl, St HEieerd § U e 1eE 1 ek ], oud ot &
Faory U6 W =Gt @ AT | 98 99§ fouvm fii o wvifea s 9
Rl T TSl @Al AT | 54 A qHgrn o fouum foke o 95d @ wneh
yaifad Hd 8§, $& GEIa: o o § Sl I "ehal 3 : (i) FREei @
(i) TR-Fremfa o |

S 3 o gmemn fob feEefi aw fauom o 99 Sd € e faoom & awaan
e i o oIy foqur geieereh fat ®9 9 999 YeH9 & 8 |

34 foque I3 THg i qgaT td augmse e fouve yergent grn fRat €9
ey T ST wehdr |

Jay is working as the Chief Executive Officer of a soft drinks company.
The company is doing its business in collaboration with a soft drinks
company of France. Jay’s friend, Swami, a teacher of Business Studies in
a reputed college was discussing the ‘Marketing’ chapter with his
students. He wanted clarity from Jay about the factors which affect the
marketing decisions. Jay explained that there were a large number of
factors affecting marketing decisions which may be divided into two
categories : (i) controllable factors, and (ii) non-controllable factors.

Jay further explained that controllable factors became marketing tools
that can be constantly shaped and reshaped by marketing managers, to
achieve marketing success.

Identify and explain the set of marketing tools that can be constantly
shaped and reshaped by marketing managers.

IRR g1 HTeatHes 318 o€ ¥ AT=IaT UTed ohid o Ush {aeea™ § STl
0TS {3787 o &9 4 HEd & | Th o o8 hen H ol a1 < fowe 4 uar
W@ o | 38 HET Hl FA™T {oh S hI Tl 5 HFNGRT o HROT IRAE Yol
TR 9 1980 T H AeRSHS Jhg @i | ﬁolalehi@d“lqmﬁqedhl
SEEAT Td SR YoiTehtvl o foedR < R0 hHd(3i, arell, Aee s, o
Wawﬁ%wﬁaﬁ%ﬁmwﬁﬁ%ﬁaw%ma
(TER) & IRY T | 37 AR =R qo1 e o Fawment o fovam™
HI qIE S qn Faseni S Reeed 9¢ T | <vs 'g foeme 3fea e
LM % 1WA H WA FChR q1 IR SR ot sl RSl o Huer
AR 9 | 38! SIF § W@ §T HId SR o Teh ek e somfud st
fotg fomm |
(%) 34 fees fFem &1 M Farsy St Temmer o1 fu wRa @R g/
form |
(@) 3IWFd () ¥ vg=H T e e & el i Sevat &1 Ioo@ ot
HIT |
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Nayar is working as a P.G.T. Commerce in a CBSE affiliated school of
Kerala. One day he was teaching about capital market in the class. He
informed the class that during 1980’s the capital market in India
witnessed a tremendous growth because of increasing participation of the
public. This ever increasing investors’ population and market
capitalisation led to a variety of malpractices on the part of the
companies, brokers, merchant bankers, investment consultants and
others involved in the securities market. These malpractices and unfair
trading practices eroded investors’ confidence and multiplied investors’
grievances. The Government of India and the stock exchanges were
helpless in redressing the investors’ problems because of lack of proper
penalty provisions in the existing legislation. In view of this the
Government of India decided to set up a regulatory body.

(a) Name the regulatory body which the Government of India decided

to set up.

(b)  Also state any three objectives of the regulatory body identified in
part (a) above.

17. e &M & faftm s ° ueh g3 et s fou SH 6t eraveehdr 7, 98 8
‘forg T W Tofa fou Sia @ 27 fordt dvres ® foig o =01 1t i =)
Toh o ST ST Tehdl 8 AT I8 3= T J&-4 o I 3 Tehal @ | T T8
‘Frera ST (1 A 0 @)’ Areft St T R |
e HIT TS ATHR TF AT H &edl 7, df Hug o & AR & 7=
TR % AT S i Yg Bl & | I8 A AT & FAM1h o TSl H wIaf
e 31fd e O w1 dued 4 foieg 81 8 98T 3= 39 vy § 39
Teree ¥ el I [ BT 8 |

I9YFd H T SR hl T HEEYUl FTRUM T FUMH Rl TR 8 | STGERON
1 TFATHT TR 36k HE o fhral dF g3l i Jeoi@ HIT |

One of the questions that needs to be answered in the organizing function
is ‘At what level are decisions made’ ? Decision making authority in an
organization can be pushed down to the lower levels or it may lie with the
top management. However it is not an ‘either or’ concept.

When an organization grows in size or complexity, there is a tendency
towards sharing decision making authority with the lower levels. This is
because in large organizations, employees who are closely involved with
certain operations tend to have more knowledge about them than the top
management.

An important concept of organizing function is discussed above. Identify
the concept and state any three points of its importance.

66/5/2] 10
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18.

19.

20.

e’ o1 TRATIYA SHITT | To79 Tk ST fohal e 2, JWEsT |
reran

‘STaETRes g 1 31 dIfNTT | sTeETRen qaiaRer i fehegl i fomsareT
I HAATST |
Define ‘Management’. Explain how management is a multidimensional
activity.

OR

Give the meaning of ‘Business Environment’. Explain any three features
of Business Environment.

Hi1eq o foru ufsreror & forgl =R @i <1 Seoi@ il |
ST

AHd GH9 Ye-geh g sqifed bl S a1l fopeal 3T fafsrse fopameti wa
Hdedl ol IoAd Y |

State any four benefits of training to the organisation.

OR
State any eight specialised activities and duties performed by Human
Resource Manager.

Qug
SECTION D

e 37t fafiee fafis yer & anfurfsaes areat & fAmtar @ | fusd 9y & dF
goeh! foshl o1 €t g &9C off | are] a¥ § ot 9 foshl B 20% € SeW w1
fauta form 3 | 39 foTu otiafies e smer aTehetur fopu U 8 | STiafies 3Tehetur
& H1EIH 9 32 Fad ™ & gt fawm hi aheraret ta A i fovaw
foRaT | SITeT 3Teh&tuT hl Shrg-foirg TR SIgeTd BU TAToRUT o H3faer U8 @l o |
3, SATTHIR TG i A H T@d §C T [ogd A9 IR i T8 qe
AT HT YTd B o (oI ATIYTH GETEHT hl A€ b =T | w3
TFQUl ¥ % AU HEAIAA H AT T G B oh Hew U | fesht # R
gfg & I G & T g9Eql Aeet H fasfaa s h s h

yfagdr 3 fisd T eoreh 8 39 AT o™ =1 stvaed fomam 2 |

Ifeid TS o & ThRI ! Yg=T-T Td THATST |

11 P.T.O.
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Matta Auto Ltd. is manufacturing different types of commercial vehicles.
Their sales were rupees two hundred crores in the previous year. The
company decided to increase sales by 20% during the current year. It
conducted internal as well as external audits for the same. Through
internal audit, they analysed the strengths and weaknesses of the
business across all departments. External audit focused on the
opportunities and the threats in the constantly changing business
environment. Thus, a comprehensive plan was prepared taking into
consideration the business environment and the necessary resources
were allocated to achieve the target. The company directed its offices
throughout the country to follow the plan. The company’s commitment to
develop effective plans to achieve a consistent increase in sales has
ensured its continual growth over the past one decade.

Identify and explain the two types of plans discussed above.

21. AT YarY 1 AL 2 TE Y Y Ig T Toh A9 ATHBT B AT AT AR B
3R g ¢@AT foh 3 38 TEgss ud fRmRdt & & i | IeR 14 TS TS
fagral = v O @ % fore fafte qeieh faehfaa i iR Seem e st
H, &1 98 H1 HAl A, IAGhdT Hl I A1 g¢H H ThA 73T | fafiE
Tehe1ehl H Teh qohrileh e fohU S dTel SHUATHAT hl T feifa it 8;
ST Ik ASHTE ST 8 AT 90 AT 1 HYRor it 8 | T 39 dohelh
31 U Il Tg=H it 3 S U e & 3faa et @ fsarea/ant @ e
3cqTEH i & AT § AT I T GRON W TG 2 Toh hrispererar yegehi T
siftreht 1 % TIFd T T ITOTH B |
I =8¢ ¥ UfEl 3gYd A §U ATMHS Ta-Y N G qehATehl i TEATHT
Td HHTST |
‘Scientific Management means knowing exactly what you want men to do
and seeing that they do it in the best and the cheapest way.” Taylor
developed various techniques for application of Scientific Management
principles and was able to achieve a three-fold increase in productivity in
Bethlehem Steel Company, where he worked. One of the techniques helps
to determine the number of workers to be employed; frame suitable
incentive schemes and determine labour costs. Another technique
recognises those workers who are able to accomplish/exceed the fair day’s
work and is based on the premise that efficiency is the result of the joint
efforts of the managers and the workers.

Quoting the lines from the above paragraph, identify and explain the two
techniques of Scientific Management.

66/5/2] 12



G

22. TSR HI&TTchR ok &1 =39 fshaAT o =N sl THATST | 5
JYUST
T o g g feraeRtor it wfsham o =Xl i AWEST | 5

Explain the steps in the selection process after ‘Employment Interview’.
OR

Explain the steps in the staffing process after ‘Selection’.

g us g
SECTION E

23. ‘TR SO TEH 46 W % 97 % WY eIq: g, fgoot @ qO H
I TEGSAT hI Th SN @ 7 | T 1987 H IR Tedl gRT TRH fomam
T o7 | ST grer, fooell W@ U H U 91 SR A9 § | foRdaR o getae
= 7@ §¢ 384 I8 Fvia fon 6 9 e § v 7€y @ien | w8 9g ot
fota o 2 T a8 -8 U gEneEi | few L arfes ag a1 faemel & foa
I HATA Tfdhal AN L Tk | Th IR 9 HEFT ! I8 ToRaTd &1 STa
o o8 31fereh I Ug Y 39T R Tehd! 7, df 39 I8 uiw off o 8 TR 3w
gfESHT % T SiY wgl @ ued fobr, ST | forftar yeeeeh, 3Tqa ol el T
5 9z ufEsm & fofu iy ard e 7 fafvm it o o9 gvaeTet dqed
ST ATk Th STIRAdH Yol Ble hl ITed fohal ST deh SR rw1emfet <6l
GTEIST I TG ST Feh | A = HFIH! ohl Uehg TATE TEATT T AR
% TvEr fod o fafid @l o Ara 1 geared TR den yeie | 9
TEIT-4q SIRGH Td hIY ThiAd i hl AN hl G i |

(%) I feld  =f<la @ focfia fofi =61 Ieci@ HINT |

(@) v Fui i gifed s ot 8 Tl g1-gl =Ieehi ol Tmemsy oM W
vt oft fot Teru A A TR | 6

66/5/2] 13 P.T.0.
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24.

‘Monisha Consumer Goods’ is a leading consumer goods chain with a
network of 46 stores primarily across Mumbai, Delhi and Pune. It was
started by Monisha Gupta in 1987. It has a large market share in
Mumbai, Delhi and Pune. Looking for an opportunity to expand, it has
decided to open a new branch in Kerala. It has to decide on what new
resources it will invest in so that it is able to earn the highest possible
return for its investors. Once the company believes that it will be able to
generate higher revenues and profits, it also has to decide on how this
project will get funded. The finance manager, Atul was told to have an
optimal capital structure by striking a balance between various sources of
getting the project funded so as to increase shareholders’ wealth. Atul,
after assessing the cash flow position of the company, evaluated the cost
of different sources of finance and compared the risk associated with each
source as well as the cost of raising funds.

(a) State the two financial decisions discussed in the above situation.

(b)  Explain any two factors affecting each of the decisions that still
have to be considered by the finance manager.

Tamamton Sonea sfean ifes’ s o fFwifl o Fafds st 1 Saared
Yok & | I8 2017 — 2018 o ANH, HFIHT Y94 IcUTe A& ! ITed &l L
Teh! | U o g HREeN Al 3 faemst f v afafa a9 S s
T IdqT T Heb R 9IS T IcuTeT AT Bl UTed HA o T 94 I <
b | T 4 IcqTed grae] fepiel o1 faveiwor femen ot urn for a8 awsmor
% B GHETE off | “otaa stean fafies’ o fem 9gd & aed 9 91 9 e
iehd *T@al g & TN R Fd od o e gl gt ot | et o
98 § Teegeh &R ¥, e dfommeesy g ¢t g off 3R |G g
BT Bl o |
iy & 3T Yaeysh, fomamfor, WEt orars &1 3w war on f 3w
HATURIN: HHATNAT o AAIWTE] ! 38 gad! off | Fawamfor s = g
Th-gal | fowamg o =81 Wd ¥, 3d: Th-gE % HeIM I 3Gk A ®Y H &I
Iug ud o |
(%) ITfea afea TEvor STereTi % YR i UgaTHT Ud 3T 319 i |
(@) Wﬁ&ﬂﬁqﬁﬁm 35Yd A g, W (F) H 989 T Tk THR
F=ATA QT HEINUT SIY1ST Bl 3o shifole, & HRul Toied sfgan
%ﬁ%‘s’mﬁma@aﬁwqﬁwaﬁl
(M) W Rl @ gamEl o Seoi@ HifSe S afufa grn wEwer i gufeesan
! o o for fg o A |
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Chintamani is the Production Manager of ‘Global India Ltd.
manufacturing and exporting steel. During the year 2017 — 18, the
company could not meet its production targets. The Chief Executive
Officer of the company constituted a committee of experts to find out the
reasons and give its recommendation so that the production target could
be met in the future. The company analysed the production related
records and found out that there were problems due to communication.
‘Global India Ltd.” had rigid rules and would insist on communication
through prescribed channels, which led to delays. The company also had
a number of managerial levels causing further delay and distorted
communication.

Moreover, the Production Manager, Chintamani, was using a tone that
quite often offended the sentiments of the workers. Also, Chintamani and
the workers did not believe in each other and so could not understand
each other’s messages in the original sense.

(a) Identify and give the meaning of the types of communication
barriers discussed above.

(b)  Quoting lines from the above, state two communication barriers
under each of the types identified in part (a) because of which
‘Global India Ltd.” could not meet its production targets.

(c) State any two recommendations that might have been given by the
committee to improve communication effectiveness.

25. Y4 % UGl % Hew W TR S T foheal 9 forgatl ol qwesy |
tera
TEY o HEw 9L TR STe aTel foheal aIR TGl i SHemsy |

Explain any four points that highlight the significance of principles of
management.

OR

Explain any four points that highlight the significance of management.



